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¥ms&E | 10153 5.3 19.6 1.4 70 6.8 22 16465
6 1 015. 2 6.8 21. 4 12,6 65 6.2 21 800. 5
7 10153 15.6 20,0 1.5 67 6.5 20 10280
8 1 015.5 15.6 20. 1 1.5 67 6.6 27 10070
9 1 015.2 16.1 20. 6 12,0 65 6.4 3.0 10475
941 A 1017.9 49 9.0 1.1 63 58 39 19.5
2 1 020, 3 5.0 9.6 09 62 5.9 32 19.5
3 1 019, 6 9.7 144 5.0 60 6.1 31 87.0
4 1 015.6 14.5 19.3 9.7 61 71 29 87. 0
5 1009, 8 19.5 2.5 15 0 65 75 2 g 106 5
6 1 008, 8 23 4 2. 1 19.4 68 76 30 102.0
7 1 008.0 26. 5 30.3 23.1 72 7.5 35 302.5
8 1 010, 0 28,2 3.4 24, 6 67 6.7 29 455
9 1012.0 23.6 27.5 20. 3 69 6.9 2.9 165. 5
10 1 016. 8 17.0 22.2 12.3 63 39 2.7 19. 0
T 1020, 8 133 17.8 9.0 69 5 8 2 6 54,0
12 1022 4 8.0 12,0 40 66 5§ 77 3.5
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FksE | 10155 13.0 18.6 86 78 76 16 17685
6 1 015. 2 14.4 20.5 9.4 75 71 16 9015

7 1 015.3 13.0 18.8 8.4 79 7.2 15 13475

8 1 015.7 131 19.0 8.4 78 7.9 15 1127.0
9 1 015. 4 13.6 19.4 88 78 6.9 15 15490
941 H 1017, 9 2.0 74 A 2.0 78 6.6 17 37.0
> 1 020.5 2 4 8.4 A 2.2 78 6.4 15 36. 5
3 1019 9 73 14.0 13 70 7.0 16 89,0

4 1 0158 1.9 18,6 6.0 72 7.0 s 1320

5 1 009.8 173 235 12,1 78 8.0 15 2630

6 1 009, 0 21,3 2. 9 16,5 77 75 15 1205
7 1 008. 1 24,2 2.6 2.4 82 73 16 3535
8 1010, 1 25. 8 N3 27 78 65 15 1445
5 10123 211 2. 2 7.3 79 7.0 15 1935
10 10172 138 21.0 86 80 52 12 24,0
1 1.021.3 10. 4 16. 6 52 82 6.8 1.4 102. 0
12 10228 5. 2 10,6 0.9 80 7.9 14 53 5
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1674. 5 38 128 12 9 14 n 3| s
2288. 3 52 76 18 8 10 5 1| e
2061. 47 88 20 2 13 5 35| 7
2043. 5) 46) 100 19 9 1" 28 1| s
2156. 1 49 100 16 " 14 67 3| 9
170. 3 55 4 7 1 - 10 -l 17
158, 2 52 5 8 - - 8 - 2
183. 0 50 8 = 1 . 6 S -
187. 6 48 10 . i i 6 =
184, 9 43 12 . i 7 5 =
182, 0 42 1" - 1 1 3 1l s
181, 3 A1 13 = = 1 8 -7
226. 9 55 4 = 1 ? | s
143. 9 39 " - . 1 3 2| 9
234, 8 67 4 = 3 2 7 -1 10
151, 7 49 10 - - - 4 T
151 5 50 8 1 3 2 5 - 12
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1 481.8 33 148 32 66 15 3 N
1972.7) 45) 105 36 36 14 i -1
1 693.3 38 130 44 22 7 - 9| 7
1753.7 39 121 41 40 1 1 1| s
1815.7 A1 137 31 38 10 1 3| o
123.5 40 12 15 3 = S -1 1m
119, 1 39 " 12 1 - - | 2
166. 0 45 " | 3 . . N
174, 0 45 10 - 3 ? . )
162. 1 38 16 - ? 4 - -1 s
159, 6 37 12 - - : — i1l s
152. 0 34 14 - - . 1 - 7
191. 9 46 8 - - 4 - | s
138, 7 37 13 - - - - 2|
201. 6 58 § - 6 2 — -1 10
127.3 A1 13 - g ) = -1
99, 9 33 " 3 " . - Y
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